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Multiplikation - vertikal

L 0se jede Aufgabe.

1) 6.669

5  1.329

9 9.425

13 9.826

1) 7.501
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Multiplikation - vertikal Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1) 2 3 4
6.669 ) 5.288 ) 9.976 ) 6.068 . 60.021
. 9 . 7 . 6 . 4
60.021 37.016 59.856 24.272 ,  37.016
3 59.856
s 24272
5 6 7 8
) 1.329 ) 7.031 ) 1.596 ) 1.343 ¢ 10.632
. 8 . 9 . 6 . 8
10.632 63.279 9.576 10.744 6. 63.279
7. 9.576
s  10.744
9 10 11 12
) 9.425 ) 7.816 ) 7.829 ) 4.270 . 37.700
° 4 ° 2 ° 8 4 6
37.700 15.632 62.632 25.620 0. 15.632
11 62.632
12 25.620
13 14 15 16
) 9.826 ) 8.418 ) 1.910 ) 2.261 w  49.130
. 5 . 7 . 2 . 5
49.130 58.926 3.820 11.305 1 58.926
15, 3.820
6. 11.305
17 18 19 20
) 7.501 ) 5.464 ) 1.360 ) 6.654 7. 45.006
° 6 ° 4 . 5 ° 8
45.006 21.856 6.800 53.232 1. 21.856
1. 6.800
0. 53.232
1-10 {95|90(85(80| 75| 70| 65|60 |55|50
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